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GROUP I MAIN - 2023 
 

PROFIT & LOSS ASSIGNMENT 
 

1. A Vegetable vendor bought 50 kg of onions for Rs. 360. He sold 36 kg at Rs. 11 per kg. The 
rest were sold at Rs. 4.50 per kg as they were not very good. Find his profit / loss percent.  
xU fha;fwp tpahghhp 50 fpNyh ntq;fhaj;ij & 360 f;F thq;Ffpwhh;. mth; xU fpNyh 11 
vd;w tpiyf;F 36 fpNyhit tpw;fpwhh;. kPjKs;stw;iw xU fpNyh & 4.50 vd;w tpiyf;F 
tpw;whh;. mtUf;F fpilj;j ,yhgk; / e~;l rjtPjk; fhz;f.  

 
2. The Marked price of a toy is Rs. 1,200. The shop keeper gave a discount of 15%. what is the 

selling price of the toy?  
xU nghk;ikapd; Fwpj;jtpiy & 1200 filf;fhuh; 15% js;Sgb tpiyapy; nfhLj;jhh; 
vdpy;> nghk;ikapd; tpw;gid tpiy vd;d?  

 
3. A dealer allows a discount of 10% and still gains 10% what is the cost price of the book 

which is marked at Rs. 440?  
xU Gj;jfj;jpd; tpiyapy; 10% js;Sgb nra;jhYk; xU tpahghhpf;F 10% ,yhgk; 
fpilf;fpwJ. mg;Gj;jfj;jpd; Fwpj;jtpiy & 440 vdpy;> mjd; mlf;f tpiyia fhz;f?  

 
4. A Man sold two gas stoves for Rs. 8400 each. He sold one at a gain of 20% and the other at a 

loss of 20%. Find his gain or loss% in the whole transaction?  
xU egh; ,uz;L vhpthA mLg;Gfis jyh & 8400 f;F tpw;whh;. xd;iw mth; 20% 
,yhgj;jpYk; kw;nwhd;iw 20% el;lj;jpYk; tpw;whh; vdpy;> mtUf;F Vw;gl;l ,yhg my;yJ 
el;l rjtPjj;ijf; fhz;f.  

 
5. Find the single discount equivalent to a series discount of 10%, 20% and 30%.  

njhlh; js;Sgbfs; KiwNa 10%, 20% kw;Wk; 30% vdpy; mjd; xw;iw js;Sgb rjtPjk; 
vt;tsT?  

 
6. A fruit seller bought 8 boxes of grapes at ì 150 each. One box was damaged. He sold the 

remaining boxes at ì 190 each. Find the profit / loss percent.  
xU go tpahghhp 8 ngl;b jpuhl;irfis> xU ngl;b ì 150 vd;w tPjk; thq;fpdhh;. mjpy; xU 
ngl;b jpuhl;ir mOfp tpLfpwJ. kPjKs;s ngl;bfis xU ngl;b ì 190 vd;w tpiyf;F 
tpw;fpwhh;. ,yhg / el;l rjtPjj;ijf; fhz;f.  
 

7. Maran sold his motorcycle to Chezhiyan at a loss of 28%. Chezhiyan spent Rs 1680 on its 
repairs and sold the motor cycle to Valavan for Rs 35910, thereby making a profit of 12.5%, 
find the cost price of the motor cycle for Maran. 
khwd; jdJ Nkhl;lhu; irf;fpis 28% e~;lj;jpy; nropaDf;F tpw;whu;. nropad; mjd; 
gOJghu;g;Gf;F 1680 &gha; nrytopj;J> Nkhl;lhu; irf;fpis 35910 &gha;f;F tstDf;F 
tpw;W> mjd; %yk; 12.5% yhgk; <l;bdhu;> khwDf;F Nkhl;lhu; irf;fpspd; thq;fpa  
tpiyiaf; fz;lwpaTk;. 
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8. An article is sold for ₹555 at a loss of 7 
1

2
%. The cost price of the article is 

xU nghUs; ₹555f;F 7
1

2
% e~;lj;jpy; tpw;fg;gLfpwJ. nghUspd; mlf;f tpiyia fhz;f. 

 
9. A woman bought some eggs at the rate of 4 eggs for ₹18 and sold them at the rate of 5 eggs 

for ₹24. She gained ₹90 in selling all the eggs. How many eggs did she buy? 

xU ngz;> 4 Kl;ilfs; tPjk; rpy Kl;ilfis ₹18f;F thq;fp> 5 Kl;ilfs; tPjk; ₹24f;F 
tpw;gid nra;jhu;. vy;yh Kl;ilfisAk; tpw;wjpy; mtu; ₹90 ngw;whu; vdpy; vj;jid 
Kl;ilfis thq;fpdhu;;? 
 

10. A shop keeper purchased 100 ball pens for `250. He sold each pen for `4. Find the profit 
percent. 
xU filf;fhuu; 100 ge;JKid Ngdhf;fis 250 &gha;f;F thq;fpdhu;. xt;nthU NgdhitAk; 
4 &gha;f;F tpw;whu;. yhg rjtPjj;ijf; fhz;f. 

 

11. The cost of an article was ₹20000 and ₹1400 were spent on its repairs. If it is sold for a profit 
of 20%, find the selling price of the article. 

xU nghUspd; tpiy ₹20000 kw;Wk; mjid gOJghu;g;gjw;fhf ₹1400 nrytplg;gl;lJ. 20% 
yhgj;jpw;F tpw;fg;gl;lhy;> nghUspd; tpw;gid tpiyiaf; fhz;f. 

 
12. A tricycle is sold at a gain of 16%. Had it been sold for Rs 100 more, the gain would have 

been 20%. Find the C.P. of the tricycle. 
xU Kr;rf;futz;b 16% yhgj;jpy; tpw;fg;gLfpwJ. ,d;Dk; 100 &gha;f;F tpw;wpUe;jhy; 20% 
yhgk; fpilj;jpUf;Fk; vdpy; Kr;rf;futz;bapd; C.P.iaf; fz;lwpaTk;. 

 
13. On selling a T.V. at 5% gain and a fridge at 10% gain, a shopkeeper gains Rs. 2000. But if he 

sells the T.V. at 10% gain and the fridge at 5% loss, he gains Rs. 1500 on the transaction. Find 
the actual Price of T.V. and the fridge.  
xU njhiyf;fhl;rp ngl;bia 5% ,yhgj;jpw;Fk;> xU Fsph;rhjdg; ngl;bia 10% 
,yhgj;jpw;Fk; tpw;gjhy; filf;fhuUf;F epfu ,yhgk; & 2000 fpilf;fpwJ. Mdhy; mth; 
xU njhiyf;fhl;rpg; ngl;bia 10% ,yhgj;jpw;Fk;> xU Fsph;rhjdg; ngl;bia 5% 
e~;lj;jpw;Fk; tpw;gjhy; mthpd; epfu ,yhgk; & 1500 fpilf;fpwJ vdpy;> njhiyf;fhl;rpg; 
ngl;b kw;Wk; Fsph;rhjdg; ngl;bapd; rhpahd tpiyfisf; fhz;f.  
 

14. Neelan purchases an article for Rs 5310 which includes 10% rebate on the marked price and 
18% tax (under GST) on the remaining price. Find the marked price of the article. 
ePyd; xU nghUis &.5310f;F thq;Ffpwhu;> mjpy; Fwpf;fg;gl;l tpiyapy; 10% js;SgbAk;> 
kPjKs;s tpiyapy; 18% tupAk; ([pv];bapd; fPo;) mlq;Fk;. nghUspd; Fwpf;fg;gl;l 
tpiyiaf; fz;lwpaTk;. 

 
15. A man buys an article for ₹150 and makes overhead expenses which are 12% of the cost 

price. At what price must he sell it to gain 5%? 

xU kdpjd; xU nghUis ₹150f;F thq;fp> mlf;f tpiyapy; 12%I  ,ju  nryTfshf 
nra;fpwhu;. mtu;  5% yhgj;ij mila vd;d tpiyf;F tpw;f Ntz;Lk;? 

 


